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No. Time Rel Time Delta T Source Destination Protocol Length Info
1402 21:31:22.907953533 13.282992058 ©.009781530 martin-mint.lan Linksys54585.1an DNS 76 Standard query 0x3fc3 AAAA goosebears.co.uk
Frame 1402: 76 bytes on wire (608 bits), 76 bytes captured (608 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:22.907953533 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864682.907953533 seconds
[Time delta from previous captured frame: 0.009781530 seconds]
[Time delta from previous displayed frame: ©.009781530 seconds]
[Time since reference or first frame: 13.282992058 seconds]
Frame Number: 1402
Frame Length: 76 bytes (608 bits)
Capture Length: 76 bytes (608 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:udp:dns]
[Coloring Rule Name: UDP]
[Coloring Rule String: udp]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.lan (30:23:03:24:89:6d)
cee. .40 ... ... ... .... = LG bit: Globally unique address (factory default)
e 0@ Lio uve wvee ve.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
ceee 2400 L. Lou. L. ..o.. = LG bit: Globally unique address (factory default)
eee +4@ L. ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (0x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: Linksys54585.lan (10.120.1.1)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: 0x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
.. ..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Total Length: 62
Identification: ©xd3b7 (54199)
Flags: x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: UDP (17)
Header Checksum: ©x4fa6 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: Linksys54585.lan (10.120.1.1)
User Datagram Protocol, Src Port: 48822 (48822), Dst Port: domain (53)
Source Port: 48822 (48822)
Destination Port: domain (53)
Length: 42
Checksum: ©xf380 [unverified]
[Checksum Status: Unverified]
[Stream index: 51]
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[Timestamps]
[Time since first frame: ©.000000000 seconds]
[Time since previous frame: 0.000000000 seconds]
UDP payload (34 bytes)
Domain Name System (query)
Transaction ID: ©x3fc3
Flags: 0x0100 Standard query

@... «... «... .... = Response: Message is a query
.000 0... .... .... = Opcode: Standard query (0)
..0. .... .... = Truncated: Message is not truncated
..1 .... .... = Recursion desired: Do query recursively
.0.. .... = Z: reserved (0)
..0 .... = Non-authenticated data: Unacceptable

Questions: 1
Answer RRs: 0
Authority RRs: ©
Additional RRs: ©
Queries
goosebears.co.uk: type AAAA, class IN
Name: goosebears.co.uk
[Name Length: 16]
[Label Count: 3]
Type: AAAA (IPv6 Address) (28)
Class: IN (0x0001)
[Response In: 1410]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1410 21:31:22.938713580 13.313752105 ©.026063251 Linksys54585.1an martin-mint.lan DNS 147 Standard query response ©x3fc3 AAAA goosebears.co.uk
SOA ns49.domaincontrol.com
Frame 1410: 147 bytes on wire (1176 bits), 147 bytes captured (1176 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:22.938713580 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864682.938713580 seconds
[Time delta from previous captured frame: 0.026063251 seconds]
[Time delta from previous displayed frame: 0.026063251 seconds]
[Time since reference or first frame: 13.313752105 seconds]
Frame Number: 1410
Frame Length: 147 bytes (1176 bits)
Capture Length: 147 bytes (1176 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:udp:dns]
[Coloring Rule Name: UDP]
[Coloring Rule String: udp]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
.0 ... t.v. wv.. o... = LG bit: Globally unique address (factory default)
eee 0@ tier ovs wvee oo.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
B . = LG bit: Globally unique address (factory default)
eee 0@ L.o. ot wee. vo.. = 1IG bit: Individual address (unicast)
Type: IPv4 (0©x0800)
Internet Protocol Version 4, Src: Linksys54585.lan (10.120.1.1), Dst: martin-mint.lan (10.120.1.97)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: ©x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (©)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Total Length: 133
Identification: ©x48c8 (18632)
Flags: ox40, Don't fragment
0... .... = Reserved bit: Not set
Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: UDP (17)
Header Checksum: ©xdad4e [validation disabled]
[Header checksum status: Unverified]
Source Address: Linksys54585.lan (10.120.1.1)
Destination Address: martin-mint.lan (10.120.1.97)
User Datagram Protocol, Src Port: domain (53), Dst Port: 48822 (48822)
Source Port: domain (53)
Destination Port: 48822 (48822)
Length: 113
Checksum: 0x50f3 [unverified]
[Checksum Status: Unverified]

=
1]
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[Stream index: 51]
[Timestamps]
[Time since first frame: 0.030760047 seconds]
[Time since previous frame: 0.030760047 seconds]
UDP payload (105 bytes)
Domain Name System (response)
Transaction ID: @x3fc3
Flags: 0x8180 Standard query response, No error
1... .... «vv. ... = Response: Message is a response
.000 0... .... .... = Opcode: Standard query (0)
vee. 0. ... ... = Authoritative: Server is not an authority for domain
..0. .... .... = Truncated: Message is not truncated
..1 .... .... = Recursion desired: Do query recursively
. 1... .... = Recursion available: Server can do recursive queries
.0.. .... = Z: reserved (0)
..0. .... = Answer authenticated: Answer/authority portion was not authenticated by the server
..0 .... = Non-authenticated data: Unacceptable
e . 0000 = Reply code: No error (9)
Questions: 1
Answer RRs: ©
Authority RRs: 1
Additional RRs: ©
Queries
goosebears.co.uk: type AAAA, class IN
Name: goosebears.co.uk
[Name Length: 16]
[Label Count: 3]
Type: AAAA (IPv6 Address) (28)
Class: IN (0x0001)
Authoritative nameservers
goosebears.co.uk: type SOA, class IN, mname ns49.domaincontrol.com
Name: goosebears.co.uk
Type: SOA (Start Of a zone of Authority) (6)
Class: IN (0x0001)
Time to live: 144 (2 minutes, 24 seconds)
Data length: 59
Primary name server: ns49.domaincontrol.com
Responsible authority's mailbox: dns.jomax.net
Serial Number: 2020122200
Refresh Interval: 28800 (8 hours)
Retry Interval: 7200 (2 hours)
Expire limit: 604800 (7 days)
Minimum TTL: 600 (10 minutes)
[Request In: 1402]
[Time: ©.030760047 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
2997 21:32:53.902564796 104.277603321 0.001057622 martin-mint.lan Linksys54585.1an DNS 76 Standard query 0x7c01 AAAA goosebears.co.uk
Frame 2997: 76 bytes on wire (608 bits), 76 bytes captured (608 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.902564796 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.902564796 seconds
[Time delta from previous captured frame: 0.001057622 seconds]
[Time delta from previous displayed frame: ©.499734765 seconds]
[Time since reference or first frame: 104.277603321 seconds]
Frame Number: 2997
Frame Length: 76 bytes (608 bits)
Capture Length: 76 bytes (608 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:udp:dns]
[Coloring Rule Name: UDP]
[Coloring Rule String: udp]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.lan (30:23:03:24:89:6d)
cee. .40 ... ... ... .... = LG bit: Globally unique address (factory default)
e 0@ Lio uve wvee ve.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
ceee 2400 L. Lou. L. ..o.. = LG bit: Globally unique address (factory default)
eee +4@ L. ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (0x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: Linksys54585.lan (10.120.1.1)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: 0x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
.. ..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Total Length: 62
Identification: ©xf24d (62029)
Flags: x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: UDP (17)
Header Checksum: ©x3110 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: Linksys54585.lan (10.120.1.1)
User Datagram Protocol, Src Port: 59335 (59335), Dst Port: domain (53)
Source Port: 59335 (59335)
Destination Port: domain (53)
Length: 42
Checksum: ©x8e31 [unverified]
[Checksum Status: Unverified]
[Stream index: 154]
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[Timestamps]
[Time since first frame: ©.000000000 seconds]
[Time since previous frame: 0.000000000 seconds]
UDP payload (34 bytes)
Domain Name System (query)
Transaction ID: ©x7c0l
Flags: 0x0100 Standard query

@... «... «... .... = Response: Message is a query
.000 0... .... .... = Opcode: Standard query (0)
..0. .... .... = Truncated: Message is not truncated
..1 .... .... = Recursion desired: Do query recursively
.0.. .... = Z: reserved (0)
..0 .... = Non-authenticated data: Unacceptable

Questions: 1
Answer RRs: 0
Authority RRs: ©
Additional RRs: ©
Queries
goosebears.co.uk: type AAAA, class IN
Name: goosebears.co.uk
[Name Length: 16]
[Label Count: 3]
Type: AAAA (IPv6 Address) (28)
Class: IN (0x0001)
[Response In: 3001]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3001 21:32:53.926998673 104.302037198 0.002203767 Linksys54585.1an martin-mint.lan DNS 147 Standard query response 0x7c@1 AAAA goosebears.co.uk
SOA ns49.domaincontrol.com
Frame 3001: 147 bytes on wire (1176 bits), 147 bytes captured (1176 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.926998673 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.926998673 seconds
[Time delta from previous captured frame: 0.002203767 seconds]
[Time delta from previous displayed frame: ©.024433877 seconds]
[Time since reference or first frame: 104.302037198 seconds]
Frame Number: 3001
Frame Length: 147 bytes (1176 bits)
Capture Length: 147 bytes (1176 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:udp:dns]
[Coloring Rule Name: UDP]
[Coloring Rule String: udp]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
.0 ... t.v. wv.. o... = LG bit: Globally unique address (factory default)
eee 0@ tier ovs wvee oo.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
B . = LG bit: Globally unique address (factory default)
eee 0@ L.o. ot wee. vo.. = 1IG bit: Individual address (unicast)
Type: IPv4 (0©x0800)
Internet Protocol Version 4, Src: Linksys54585.lan (10.120.1.1), Dst: martin-mint.lan (10.120.1.97)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: ©x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (©)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Total Length: 133
Identification: ©x59cl (22977)
Flags: ox40, Don't fragment
0... .... = Reserved bit: Not set
Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: UDP (17)
Header Checksum: 0xc955 [validation disabled]
[Header checksum status: Unverified]
Source Address: Linksys54585.lan (10.120.1.1)
Destination Address: martin-mint.lan (10.120.1.97)
User Datagram Protocol, Src Port: domain (53), Dst Port: 59335 (59335)
Source Port: domain (53)
Destination Port: 59335 (59335)
Length: 113
Checksum: ©@xeaf8 [unverified]
[Checksum Status: Unverified]

=
1]
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[Stream index: 154]
[Timestamps]
[Time since first frame: ©0.024433877 seconds]
[Time since previous frame: 0.024433877 seconds]
UDP payload (105 bytes)
Domain Name System (response)
Transaction ID: 0x7c01l
Flags: 0x8180 Standard query response, No error
1... .... «vv. ... = Response: Message is a response
.000 0... .... .... = Opcode: Standard query (0)
vee. 0. ... ... = Authoritative: Server is not an authority for domain
..0. .... .... = Truncated: Message is not truncated
..1 .... .... = Recursion desired: Do query recursively
. 1... .... = Recursion available: Server can do recursive queries
.0.. .... = Z: reserved (0)
..0. .... = Answer authenticated: Answer/authority portion was not authenticated by the server
..0 .... = Non-authenticated data: Unacceptable
e . 0000 = Reply code: No error (9)
Questions: 1
Answer RRs: ©
Authority RRs: 1
Additional RRs: ©
Queries
goosebears.co.uk: type AAAA, class IN
Name: goosebears.co.uk
[Name Length: 16]
[Label Count: 3]
Type: AAAA (IPv6 Address) (28)
Class: IN (0x0001)
Authoritative nameservers
goosebears.co.uk: type SOA, class IN, mname ns49.domaincontrol.com
Name: goosebears.co.uk
Type: SOA (Start Of a zone of Authority) (6)
Class: IN (0x0001)
Time to live: 315 (5 minutes, 15 seconds)
Data length: 59
Primary name server: ns49.domaincontrol.com
Responsible authority's mailbox: dns.jomax.net
Serial Number: 2020122200
Refresh Interval: 28800 (8 hours)
Retry Interval: 7200 (2 hours)
Expire limit: 604800 (7 days)
Minimum TTL: 600 (10 minutes)
[Request In: 2997]
[Time: ©.024433877 seconds]



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

No. Time Rel Time Delta T Source Destination Protocol Length Info
1394 21:31:22.876366540 13.251405065 0.015733660 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 50496 . http(80) [SYN] Seq=0 Win=64240 Len=0
MSS=1460 SACK_PERM=1 TSval=2582293665 TSecr=0 WS=128
Frame 1394: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:22.876366540 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864682.876366540 seconds
[Time delta from previous captured frame: 0.015733660 seconds]
[Time delta from previous displayed frame: ©.000000000 seconds ]
[Time since reference or first frame: 13.251405065 seconds]
Frame Number: 1394
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: oxffld (65309)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x0f12 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50496 (50496), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50496 (50496)
Destination Port: http (80)
[Stream index: 23]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)
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Sequence Number (raw): 3522675782

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @x7e27 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582293665, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582293665
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[Timestamps]
[Time since first frame in this TCP stream: ©.000000000 seconds]
[Time since previous frame in this TCP stream: ©.000000000 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1397 21:31:22.891798656 13.266837181 0.009260326 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 50498 . http(80) [SYN] Seq=0 Win=64240 Len=0
MSS=1460 SACK_PERM=1 TSval=2582293680 TSecr=0 WS=128
Frame 1397: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:22.891798656 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864682.891798656 seconds
[Time delta from previous captured frame: 0.009260326 seconds]
[Time delta from previous displayed frame: ©.015432116 seconds]
[Time since reference or first frame: 13.266837181 seconds]
Frame Number: 1397
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: @x3dc9 (15817)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xde66 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50498 (50498), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50498 (50498)
Destination Port: http (80)
[Stream index: 24]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)
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Sequence Number (raw): 1904848981

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @xf275 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582293680, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582293680
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[Timestamps]
[Time since first frame in this TCP stream: ©.000000000 seconds]
[Time since previous frame in this TCP stream: ©.000000000 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1403 21:31:22.908505104 13.283543629 0.000551571 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 50500 . http(80) [SYN] Seq=0 Win=64240 Len=0
MSS=1460 SACK_PERM=1 TSval=2582293697 TSecr=0 WS=128
Frame 1403: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:22.908505104 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864682.908505104 seconds
[Time delta from previous captured frame: 0.000551571 seconds]
[Time delta from previous displayed frame: ©.016706448 seconds]
[Time since reference or first frame: 13.283543629 seconds]
Frame Number: 1403
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: 0x8886 (34950)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x85a9 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50500 (50500), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50500 (50500)
Destination Port: http (80)
[Stream index: 25]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)
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Sequence Number (raw): 2085948641

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x8b@b [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582293697, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582293697
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[Timestamps]
[Time since first frame in this TCP stream: ©.000000000 seconds]
[Time since previous frame in this TCP stream: ©.000000000 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1445 21:31:23.159337976 13.534376501 0.012409874 martin-mint.lan ip-160-153-128-26.ip.secureserver.net TCP 74 50502 . http(80) [SYN] Seq=0 Win=64240 Len=0
MSS=1460 SACK_PERM=1 TSval=2582293948 TSecr=0 WS=128
Frame 1445: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:23.159337976 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864683.159337976 seconds
[Time delta from previous captured frame: 0.012409874 seconds]
[Time delta from previous displayed frame: ©.250832872 seconds]
[Time since reference or first frame: 13.534376501 seconds]
Frame Number: 1445
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©xc426 (50214)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x4a@9 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50502 (50502), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50502 (50502)
Destination Port: http (80)
[Stream index: 26]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)
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Sequence Number (raw): 404592002

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @x65a5 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582293948, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582293948
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[Timestamps]
[Time since first frame in this TCP stream: ©.000000000 seconds]
[Time since previous frame in this TCP stream: ©.000000000 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1449 21:31:23.882500677 14.257539202  0.014071377 martin-mint.lan ip-160-153-128-26.ip.secureserver.net TCP 74 [TCP Retransmission] 50496 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582294671 TSecr=0 WS=128
Frame 1449: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:23.882500677 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864683.882500677 seconds
[Time delta from previous captured frame: 0.014071377 seconds]
[Time delta from previous displayed frame: ©.723162701 seconds]
[Time since reference or first frame: 14.257539202 seconds]
Frame Number: 1449
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: oxffle (65310)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x0f11 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50496 (50496), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50496 (50496)
Destination Port: http (80)
[Stream index: 23]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 3522675782

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: ©x7a39 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582294671, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582294671
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 1.006134137 seconds]
[RTO based on delta from frame: 1394]
[Timestamps]
[Time since first frame in this TCP stream: 1.006134137 seconds]
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[Time since previous frame in this TCP stream: 1.006134137 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1450 21:31:23.914494319 14.289532844  0.031993642 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50500 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582294703 TSecr=0 WS=128
Frame 1450: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:23.914494319 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864683.914494319 seconds
[Time delta from previous captured frame: 0.031993642 seconds]
[Time delta from previous displayed frame: ©.031993642 seconds]
[Time since reference or first frame: 14.289532844 seconds]
Frame Number: 1450
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: 0x8887 (34951)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x85a8 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50500 (50500), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50500 (50500)
Destination Port: http (80)
[Stream index: 25]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 2085948641

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x871d [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582294703, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582294703
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 1.005989215 seconds]
[RTO based on delta from frame: 1403]
[Timestamps]
[Time since first frame in this TCP stream: 1.005989215 seconds]
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[Time since previous frame in this TCP stream: 1.005989215 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1451 21:31:23.914545887 14.289584412 ©0.000051568 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50498 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582294703 TSecr=0 WS=128
Frame 1451: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:23.914545887 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864683.914545887 seconds
[Time delta from previous captured frame: 0.000051568 seconds]
[Time delta from previous displayed frame: ©.000051568 seconds]
[Time since reference or first frame: 14.289584412 seconds]
Frame Number: 1451
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©x3dca (15818)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xde@65 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50498 (50498), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50498 (50498)
Destination Port: http (80)
[Stream index: 24]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 1904848981

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: ©@xee76 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582294703, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582294703
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 1.022747231 seconds]
[RTO based on delta from frame: 1397]
[Timestamps]
[Time since first frame in this TCP stream: 1.022747231 seconds]
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[Time since previous frame in this TCP stream: 1.022747231 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1459 21:31:24.170491213 14.545529738 0.027031771 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50502 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582294959 TSecr=0 WS=128
Frame 1459: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:24.170491213 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864684.170491213 seconds
[Time delta from previous captured frame: 0.027031771 seconds]
[Time delta from previous displayed frame: ©.255945326 seconds]
[Time since reference or first frame: 14.545529738 seconds]
Frame Number: 1459
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©xc427 (50215)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x4a08 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50502 (50502), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50502 (50502)
Destination Port: http (80)
[Stream index: 26]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 404592002

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @x61b2 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582294959, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582294959
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 1.011153237 seconds]
[RTO based on delta from frame: 1445]
[Timestamps]
[Time since first frame in this TCP stream: 1.011153237 seconds]
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[Time since previous frame in this TCP stream: 1.011153237 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1487 21:31:25.898500552 16.273539077 0.021786221 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50496 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582296687 TSecr=0 WS=128
Frame 1487: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:25.898500552 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864685.898500552 seconds
[Time delta from previous captured frame: 0.021786221 seconds]
[Time delta from previous displayed frame: 1.728009339 seconds]
[Time since reference or first frame: 16.273539077 seconds]
Frame Number: 1487
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: oxffif (65311)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x0f10 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50496 (50496), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50496 (50496)
Destination Port: http (80)
[Stream index: 23]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 3522675782

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x7259 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582296687, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582296687
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 3.022134012 seconds]
[RTO based on delta from frame: 1394]
[Timestamps]
[Time since first frame in this TCP stream: 3.022134012 seconds]



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

[Time since previous frame in this TCP stream: 2.015999875 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1489 21:31:25.930513256 16.305551781  0.002406299 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50498 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582296719 TSecr=0 WS=128
Frame 1489: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:25.930513256 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864685.930513256 seconds
[Time delta from previous captured frame: 0.002406299 seconds]
[Time delta from previous displayed frame: ©.032012704 seconds]
[Time since reference or first frame: 16.305551781 seconds]
Frame Number: 1489
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: @x3dcb (15819)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xde64 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50498 (50498), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50498 (50498)
Destination Port: http (80)
[Stream index: 24]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 1904848981

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0xe696 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582296719, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582296719
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 3.038714600 seconds]
[RTO based on delta from frame: 1397]
[Timestamps]
[Time since first frame in this TCP stream: 3.038714600 seconds]
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[Time since previous frame in this TCP stream: 2.015967369 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1490 21:31:25.930588909 16.305627434  ©.000075653 martin-mint.lan ip-160-153-128-26.ip.secureserver.net TCP 74 [TCP Retransmission] 50500 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582296719 TSecr=0 WS=128
Frame 1490: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:25.930588909 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864685.930588909 seconds
[Time delta from previous captured frame: 0.000075653 seconds]
[Time delta from previous displayed frame: ©.000075653 seconds]
[Time since reference or first frame: 16.305627434 seconds]
Frame Number: 1490
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: 0x8888 (34952)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x85a7 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50500 (50500), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50500 (50500)
Destination Port: http (80)
[Stream index: 25]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 2085948641

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x7f3d [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582296719, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582296719
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 3.022083805 seconds]
[RTO based on delta from frame: 1403]
[Timestamps]
[Time since first frame in this TCP stream: 3.022083805 seconds]
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[Time since previous frame in this TCP stream: 2.016094590 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1492 21:31:26.186491265 16.561529790  ©.148783299 martin-mint.lan ip-160-153-128-26.ip.secureserver.net TCP 74 [TCP Retransmission] 50502 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582296975 TSecr=0 WS=128
Frame 1492: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:26.186491265 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864686.186491265 seconds
[Time delta from previous captured frame: ©0.148783299 seconds]
[Time delta from previous displayed frame: ©.255902356 seconds]
[Time since reference or first frame: 16.561529790 seconds]
Frame Number: 1492
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©xc428 (50216)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x4a@7 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50502 (50502), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50502 (50502)
Destination Port: http (80)
[Stream index: 26]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 404592002

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x59d2 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582296975, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582296975
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 3.027153289 seconds]
[RTO based on delta from frame: 1445]
[Timestamps]
[Time since first frame in this TCP stream: 3.027153289 seconds]
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[Time since previous frame in this TCP stream: 2.016000052 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1539 21:31:30.154554273 20.529592798  0.227441990 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50500 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582300943 TSecr=0 WS=128
Frame 1539: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:30.154554273 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864690.154554273 seconds
[Time delta from previous captured frame: ©0.227441990 seconds]
[Time delta from previous displayed frame: 3.968063008 seconds]
[Time since reference or first frame: 20.529592798 seconds]
Frame Number: 1539
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: 0x8889 (34953)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x85a6 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50500 (50500), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50500 (50500)
Destination Port: http (80)
[Stream index: 25]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 2085948641

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: ©@x6ebd [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582300943, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582300943
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 7.246049169 seconds]
[RTO based on delta from frame: 1403]
[Timestamps]
[Time since first frame in this TCP stream: 7.246049169 seconds]
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[Time since previous frame in this TCP stream: 4.223965364 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1540 21:31:30.154655789 20.529694314 0.000101516 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50496 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582300943 TSecr=0 WS=128
Frame 1540: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:30.154655789 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864690.154655789 seconds
[Time delta from previous captured frame: 0.000101516 seconds]
[Time delta from previous displayed frame: ©.000101516 seconds]
[Time since reference or first frame: 20.529694314 seconds]
Frame Number: 1540
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: oxff20 (65312)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: @x0fof [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50496 (50496), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50496 (50496)
Destination Port: http (80)
[Stream index: 23]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 3522675782

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x61b9 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582300943, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582300943
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 7.278289249 seconds]
[RTO based on delta from frame: 1394]
[Timestamps]
[Time since first frame in this TCP stream: 7.278289249 seconds]
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[Time since previous frame in this TCP stream: 4.256155237 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1541 21:31:30.154669856 20.529708381 0.000014067 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50498 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582300943 TSecr=0 WS=128
Frame 1541: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:30.154669856 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864690.154669856 seconds
[Time delta from previous captured frame: 0.000014067 seconds]
[Time delta from previous displayed frame: ©.000014067 seconds]
[Time since reference or first frame: 20.529708381 seconds]
Frame Number: 1541
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: @x3dcc (15820)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xd@63 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50498 (50498), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50498 (50498)
Destination Port: http (80)
[Stream index: 24]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 1904848981

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0xd616 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582300943, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582300943
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 7.262871200 seconds]
[RTO based on delta from frame: 1397]
[Timestamps]
[Time since first frame in this TCP stream: 7.262871200 seconds]
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[Time since previous frame in this TCP stream: 4.224156600 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1682 21:31:38.346500072 28.721538597 0.033915587 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50496 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582309135 TSecr=0 WS=128
Frame 1682: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:38.346500072 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864698.346500072 seconds
[Time delta from previous captured frame: ©.033915587 seconds]
[Time delta from previous displayed frame: 8.191830216 seconds]
[Time since reference or first frame: 28.721538597 seconds]
Frame Number: 1682
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: @xff21 (65313)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x0f@e [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50496 (50496), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50496 (50496)
Destination Port: http (80)
[Stream index: 23]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 3522675782

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x41b9 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582309135, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582309135
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 15.470133532 seconds]
[RTO based on delta from frame: 1394]
[Timestamps]
[Time since first frame in this TCP stream: 15.470133532 seconds]
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[Time since previous frame in this TCP stream: 8.191844283 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1683 21:31:38.346500077 28.721538602 ©.000000005 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50498 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582309135 TSecr=0 WS=128
Frame 1683: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:38.346500077 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864698.346500077 seconds
[Time delta from previous captured frame: ©.000000005 seconds]
[Time delta from previous displayed frame: ©.000000005 seconds ]
[Time since reference or first frame: 28.721538602 seconds]
Frame Number: 1683
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©x3dcd (15821)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xd@62 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50498 (50498), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50498 (50498)
Destination Port: http (80)
[Stream index: 24]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 1904848981

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0xb616 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582309135, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582309135
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 15.454701421 seconds]
[RTO based on delta from frame: 1397]
[Timestamps]
[Time since first frame in this TCP stream: 15.454701421 seconds]
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[Time since previous frame in this TCP stream: 8.191830221 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1684 21:31:38.346549883 28.721588408 0.000049806 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50500 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582309135 TSecr=0 WS=128
Frame 1684: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:38.346549883 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864698.346549883 seconds
[Time delta from previous captured frame: 0.000049806 seconds]
[Time delta from previous displayed frame: ©.000049806 seconds]
[Time since reference or first frame: 28.721588408 seconds]
Frame Number: 1684
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: 0x888a (34954)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x85a5 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50500 (50500), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50500 (50500)
Destination Port: http (80)
[Stream index: 25]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 2085948641

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: ©@x4ebd [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582309135, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582309135
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 15.438044779 seconds]
[RTO based on delta from frame: 1403]
[Timestamps]
[Time since first frame in this TCP stream: 15.438044779 seconds]
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[Time since previous frame in this TCP stream: 8.191995610 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1882 21:31:54.474494223 44.849532748  ©.025397287 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50496 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582325263 TSecr=0 WS=128
Frame 1882: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:54.474494223 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864714.474494223 seconds
[Time delta from previous captured frame: 0.025397287 seconds]
[Time delta from previous displayed frame: 16.127944340 seconds]
[Time since reference or first frame: 44.849532748 seconds]
Frame Number: 1882
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: @xff22 (65314)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x0f@d [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50496 (50496), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50496 (50496)
Destination Port: http (80)
[Stream index: 23]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 3522675782

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x02b9 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582325263, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582325263
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 31.598127683 seconds]
[RTO based on delta from frame: 1394]
[Timestamps]
[Time since first frame in this TCP stream: 31.598127683 seconds]
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[Time since previous frame in this TCP stream: 16.127994151 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1883 21:31:54.474494218 44.849532743  -0.000000005 martin-mint.lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50500 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582325263 TSecr=0 WS=128
Frame 1883: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:54.474494218 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864714.474494218 seconds
[Time delta from previous captured frame: -0.000000005 seconds]
[Time delta from previous displayed frame: -0.000000005 seconds]
[Time since reference or first frame: 44.849532743 seconds]
Frame Number: 1883
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©0x888b (34955)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x85a4 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50500 (50500), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50500 (50500)
Destination Port: http (80)
[Stream index: 25]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 2085948641

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @x0fbd [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582325263, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582325263
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 31.565989114 seconds]
[RTO based on delta from frame: 1403]
[Timestamps]
[Time since first frame in this TCP stream: 31.565989114 seconds]
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[Time since previous frame in this TCP stream: 16.127944335 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
1884 21:31:54.474544792 44.849583317 0.000050574 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50498 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582325263 TSecr=0 WS=128
Frame 1884: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:31:54.474544792 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864714.474544792 seconds
[Time delta from previous captured frame: 0.000050574 seconds]
[Time delta from previous displayed frame: ©.000050574 seconds]
[Time since reference or first frame: 44.849583317 seconds]
Frame Number: 1884
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©x3dce (15822)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xde61 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50498 (50498), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50498 (50498)
Destination Port: http (80)
[Stream index: 24]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 1904848981

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x7716 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582325263, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582325263
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 31.582746136 seconds]
[RTO based on delta from frame: 1397]
[Timestamps]
[Time since first frame in this TCP stream: 31.582746136 seconds]
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[Time since previous frame in this TCP stream: 16.128044715 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
2282 21:32:27.242500374 77.617538899  0.153637205 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50496 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582358031 TSecr=0 WS=128
Frame 2282: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:27.242500374 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864747.242500374 seconds
[Time delta from previous captured frame: ©0.153637205 seconds]
[Time delta from previous displayed frame: 32.767955582 seconds]
[Time since reference or first frame: 77.617538899 seconds]
Frame Number: 2282
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: @xff23 (65315)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x0f@c [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50496 (50496), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50496 (50496)
Destination Port: http (80)
[Stream index: 23]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

Sequence Number (raw): 3522675782

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x82b8 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582358031, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582358031
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 64.366133834 seconds]
[RTO based on delta from frame: 1394]
[Timestamps]
[Time since first frame in this TCP stream: 64.366133834 seconds]
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[Time since previous frame in this TCP stream: 32.768006151 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
2283 21:32:27.242500380 77.617538905 ©.000000006 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50498 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582358031 TSecr=0 WS=128
Frame 2283: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:27.242500380 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864747.242500380 seconds
[Time delta from previous captured frame: ©.000000006 seconds]
[Time delta from previous displayed frame: ©.000000006 seconds ]
[Time since reference or first frame: 77.617538905 seconds]
Frame Number: 2283
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: @x3dcf (15823)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xde60 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50498 (50498), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50498 (50498)
Destination Port: http (80)
[Stream index: 24]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 1904848981

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @xf715 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582358031, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582358031
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 64.350701724 seconds]
[RTO based on delta from frame: 1397]
[Timestamps]
[Time since first frame in this TCP stream: 64.350701724 seconds]
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[Time since previous frame in this TCP stream: 32.767955588 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
2284 21:32:27.242550173 77.617588698  ©.000049793 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 [TCP Retransmission] 50500 . http(80) [SYN]
Seq=0 Win=64240 Len=0 MSS=1460 SACK_PERM=1 TSval=2582358031 TSecr=0 WS=128
Frame 2284: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:27.242550173 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864747.242550173 seconds
[Time delta from previous captured frame: 0.000049793 seconds]
[Time delta from previous displayed frame: ©.000049793 seconds]
[Time since reference or first frame: 77.617588698 seconds]
Frame Number: 2284
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: Bad TCP]
[Coloring Rule String: tcp.analysis.flags && !tcp.analysis.window_update && !tcp.analysis.keep_alive & !tcp.analysis.keep_alive_ack]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: 0x888c (34956)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x85a3 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50500 (50500), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50500 (50500)
Destination Port: http (80)
[Stream index: 25]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)

IG bit: Individual address (unicast)
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Sequence Number (raw): 2085948641

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @x8fbc [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582358031, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582358031
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[SEQ/ACK analysis]
[TCP Analysis Flags]
[Expert Info (Note/Sequence): This frame is a (suspected) retransmission]
[This frame is a (suspected) retransmission]
[Severity level: Note]
[Group: Sequence]
[The RTO for this segment was: 64.334045069 seconds]
[RTO based on delta from frame: 1403]
[Timestamps]
[Time since first frame in this TCP stream: 64.334045069 seconds]



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

[Time since previous frame in this TCP stream: 32.768055955 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
2996 21:32:53.901507174 104.276545699 ©.033048764 martin-mint.lan ip-160-153-128-26.ip.secureserver.net TCP 74 50524 . http(80) [SYN] Seq=0 Win=64240 Len=0
MSS=1460 SACK_PERM=1 TSval=2582384690 TSecr=0 WS=128
Frame 2996: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.901507174 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.901507174 seconds
[Time delta from previous captured frame: 0.033048764 seconds]
[Time delta from previous displayed frame: 26.658957001 seconds]
[Time since reference or first frame: 104.276545699 seconds]
Frame Number: 2996
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©x1773 (6003)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: @xfébc [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50524 (50524)
Destination Port: http (80)
[Stream index: 40]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)
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Sequence Number (raw): 2105173639

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: @xccb5 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582384690, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384690
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[Timestamps]
[Time since first frame in this TCP stream: ©.000000000 seconds]
[Time since previous frame in this TCP stream: ©.000000000 seconds]
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No. Time Rel Time Delta T Source Destination

Protocol Length Info

2998 21:32:53.924515172 104.299553697 0.021950376 ip-160-153-128-26.1ip.secureserver.net martin-mint.1lan TCP 74

Win=14480 Len=0 MSS=1448 SACK_PERM=1 TSval=615192790 TSecr=2582384690 WS=512

Frame 2998: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.924515172 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.924515172 seconds
[Time delta from previous captured frame: 0.021950376 seconds]
[Time delta from previous displayed frame: ©.023007998 seconds]
[Time since reference or first frame: 104.299553697 seconds]
Frame Number: 2998
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (00:0f:00:d5:62:52)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
0. sier vevt weve w... = LG bit: Globally unique address (factory default)
eee +0@ L.l ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (©x0800)

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 .... = Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)

0000 00.. = Differentiated Services Codepoint: Default (9)

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)

Total Length: 60
Identification: ox0000 (0)
Flags: 0x40, Don't fragment

@... .... = Reserved bit: Not set

.1.. .... = Don't fragment: Set

..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)
Header Checksum: ©x1e30 [validation disabled]
[Header checksum status: Unverified]
Source Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Destination Address: martin-mint.lan (10.120.1.97)

Transmission Control Protocol, Src Port: http (80), Dst Port: 50524 (50524), Seq: 0, Ack: 1, Len:

Source Port: http (80)

Destination Port: 50524 (50524)

[Stream index: 40]

[TCP Segment Len: 0]

Sequence Number: © (relative sequence number)

(4]

http(80) . 50524 [SYN, ACK] Seq=0 Ack=1
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Sequence Number (raw): 2083571849

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: 1 (relative ack number)
Acknowledgment number (raw): 2105173640
1010 .... = Header Length: 4@ bytes (10)
Flags: 0x012 (SYN, ACK)
000. .... .... = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish acknowledge (SYN+ACK): server port 80]
[Connection establish acknowledge (SYN+ACK): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: ....... A..S.]
Window: 14480
[Calculated window size: 14480]
Checksum: @x0cd4 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1448 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1448
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 615192790, TSecr 2582384690
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615192790
Timestamp echo reply: 2582384690
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 9 (multiply by 512)
Kind: Window Scale (3)
Length: 3
Shift count: 9
[Multiplier: 512]
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 2996]
[The RTT to ACK the segment was: 0.023007998 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: ©.023007998 seconds]
[Time since previous frame in this TCP stream: 0.023007998 seconds]
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No.

Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)

Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)

Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 1, Ack: 1, Len:

Time Rel Time Delta T Source Destination

Protocol Length Info

2999 21:32:53.924564210 104.299602735 ©.000049038 martin-mint.lan ip-160-153-128-26.ip.secureserver.net TCP
Len=0 TSval=2582384713 TSecr=615192790
Frame 2999: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlx@00f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.924564210 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.924564210 seconds
[Time delta from previous captured frame: 0.000049038 seconds]
[Time delta from previous displayed frame: ©.000049038 seconds]
[Time since reference or first frame: 104.299602735 seconds]
Frame Number: 2999
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]

Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)

... ... c... ov.. o... = LG bit: Globally unique address (factory default)

e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)

.0, ... tiv. wve. o... = LG bit: Globally unique address (factory default)

P < RN
Type: IPv4 (©x0800)

IG bit: Individual address (unicast)

0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 52
Identification: 0x1774 (6004)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: @xf6c3 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)

Source Port: 50524 (50524)

Destination Port: http (80)

[Stream index: 40]

[TCP Segment Len: 0]

Sequence Number: 1 (relative sequence number)

(4]

66

50524 . http(8@) [ACK] Seq=1 Ack=1 Win=64256
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Sequence Number (raw): 2105173640

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: 1 (relative ack number)
Acknowledgment number (raw): 2083571850
1000 .... = Header Length: 32 bytes (8)
Flags: ox010 (ACK)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... A....]
Window: 502
[Calculated window size: 64256]
[Window size scaling factor: 128]
Checksum: 0x7219 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 2582384713, TSecr 615192790
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384713
Timestamp echo reply: 615192790
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 2998]
[The RTT to ACK the segment was: 0.000049038 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: ©.023057036 seconds]
[Time since previous frame in this TCP stream: 0.000049038 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3000 21:32:53.924794906 104.299833431 0.000230696 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net HTTP 409 GET /weather/ HTTP/1.1
Frame 3000: 409 bytes on wire (3272 bits), 409 bytes captured (3272 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.924794906 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.924794906 seconds
[Time delta from previous captured frame: 0.000230696 seconds]
[Time delta from previous displayed frame: ©.000230696 seconds]
[Time since reference or first frame: 104.299833431 seconds]
Frame Number: 3000
Frame Length: 409 bytes (3272 bits)
Capture Length: 409 bytes (3272 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp:http]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.lan (30:23:03:24:89:6d)
cee. .40 ... ... ... .... = LG bit: Globally unique address (factory default)
e 0@ Lio uve wvee ve.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
ceee 2400 L. Lou. L. ..o.. = LG bit: Globally unique address (factory default)
eee +4@ L. ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (0x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: 0x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
.. ..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Total Length: 395
Identification: ©x1775 (6005)
Flags: x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xf56b [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 1, Ack: 1, Len: 343
Source Port: 50524 (50524)
Destination Port: http (80)
[Stream index: 40]
[TCP Segment Len: 343]
Sequence Number: 1 (relative sequence number)
Sequence Number (raw): 2105173640
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[Next Sequence Number: 344 (relative sequence number)]
Acknowledgment Number: 1 (relative ack number)
Acknowledgment number (raw): 2083571850
1000 .... = Header Length: 32 bytes (8)
Flags: 0x018 (PSH, ACK)
000. .... .... = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set

.0.. .... = ECN-Echo: Not set

..0. .... = Urgent: Not set

..1 .... = Acknowledgment: Set

. 1... = Push: Set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... AP...]
Window: 502
[Calculated window size: 64256]
[Window size scaling factor: 128]
Checksum: ©x30ef [unverified]
[Checksum Status: Unverified]
Urgent Pointer: @
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 2582384713, TSecr 615192790
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384713
Timestamp echo reply: 615192790
[SEQ/ACK analysis]
[iRTT: ©.023057036 seconds]
[Bytes in flight: 343]
[Bytes sent since last PSH flag: 343]
[Timestamps]
[Time since first frame in this TCP stream: 0.023287732 seconds]
[Time since previous frame in this TCP stream: 0.000230696 seconds]
TCP payload (343 bytes)
Hypertext Transfer Protocol
GET /weather/ HTTP/1.1\r\n
[Expert Info (Chat/Sequence): GET /weather/ HTTP/1.1\r\n]
[GET /weather/ HTTP/1.1\r\n]
[Severity level: Chat]
[Group: Sequence]
Request Method: GET
Request URI: /weather/
Request Version: HTTP/1.1
Host: goosebears.co.uk\r\n
User-Agent: Mozilla/5.0 (X11; Ubuntu; Linux x86_64; rv:92.0) Gecko/20100101 Firefox/92.0\r\n
Accept: text/html,application/xhtml+xml,application/xml;q=0.9,image/webp,*/*;q=0.8\r\n
Accept-Language: en-GB,en;q=0.5\r\n
Accept-Encoding: gzip, deflate\r\n
Connection: keep-alive\r\n
Upgrade-Insecure-Requests: 1\r\n
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\r\n

[Full request URI: http://goosebears.co.uk/weather/]
[HTTP request 1/2]

[Response in frame: 3006]

[Next request in frame: 3021]
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No. Time Rel Time Delta T Source Destination

Protocol Length Info

3003 21:32:53.947872401 104.322910926 ©0.019998113 ip-160-153-128-26.ip.secureserver.net martin-mint.lan TCP 66

Len=0 TSval=615192813 TSecr=2582384713

Frame 3003: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlx000f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.947872401 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.947872401 seconds
[Time delta from previous captured frame: 0.019998113 seconds]
[Time delta from previous displayed frame: ©.023077495 seconds]
[Time since reference or first frame: 104.322910926 seconds]
Frame Number: 3003
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (00:0f:00:d5:62:52)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
0. sier vevt weve w... = LG bit: Globally unique address (factory default)
eee +0@ L.l ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (©x0800)

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 .... = Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)

0000 00.. = Differentiated Services Codepoint: Default (9)

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)

Total Length: 52
Identification: ©xde67 (53351)
Flags: 0x40, Don't fragment

@... .... = Reserved bit: Not set

.1.. .... = Don't fragment: Set

..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)
Header Checksum: ©x4dde@ [validation disabled]
[Header checksum status: Unverified]
Source Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Destination Address: martin-mint.lan (10.120.1.97)

Transmission Control Protocol, Src Port: http (80), Dst Port: 50524 (50524), Seq: 1, Ack: 344, Len:

Source Port: http (80)

Destination Port: 50524 (50524)

[Stream index: 40]

[TCP Segment Len: 0]

Sequence Number: 1 (relative sequence number)

0

http(80) . 50524 [ACK] Seq=1 Ack=344 Win=15872
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Sequence Number (raw): 2083571850

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: 344 (relative ack number)
Acknowledgment number (raw): 2105173983
1000 .... = Header Length: 32 bytes (8)
Flags: ox010 (ACK)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... A....]
Window: 31
[Calculated window size: 15872]
[Window size scaling factor: 512]
Checksum: 0x7282 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 615192813, TSecr 2582384713
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615192813
Timestamp echo reply: 2582384713
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3000]
[The RTT to ACK the segment was: 0.023077495 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: 0.046365227 seconds]
[Time since previous frame in this TCP stream: 0.023077495 seconds]
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No. Time Rel Time Delta T Source Destination

3004 21:32:53.963482441 104.338520966 ©0.015610040 ip-160-153-128-26.1ip.secureserver.net martin-mint.1lan

Len=1436 TSval=615192826 TSecr=2582384713 [TCP segment of a reassembled PDU]

Frame 3004: 1502 bytes on wire (12016 bits), 1502 bytes captured (12016 bits) on interface wlx@00f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.963482441 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.963482441 seconds
[Time delta from previous captured frame: 0.015610040 seconds]
[Time delta from previous displayed frame: ©.015610040 seconds]
[Time since reference or first frame: 104.338520966 seconds]
Frame Number: 3004
Frame Length: 1502 bytes (12016 bits)
Capture Length: 1502 bytes (12016 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (00:0f:00:d5:62:52)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
eee +0@ L.l ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (©x0800)

Protocol Length Info

TCP 1502

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 .... = Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)

0000 00.. = Differentiated Services Codepoint: Default (9)

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)

Total Length: 1488
Identification: ©xdee68 (53352)
Flags: 0x40, Don't fragment

@... .... = Reserved bit: Not set

.1.. .... = Don't fragment: Set

..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)
Header Checksum: ©x4833 [validation disabled]
[Header checksum status: Unverified]
Source Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Destination Address: martin-mint.lan (10.120.1.97)

Transmission Control Protocol, Src Port: http (80), Dst Port: 50524 (50524), Seq: 1, Ack: 344, Len:

Source Port: http (80)

Destination Port: 50524 (50524)

[Stream index: 40]

[TCP Segment Len: 1436]

Sequence Number: 1 (relative sequence number)

1436

http(80) . 50524 [ACK] Seq=1 Ack=344 Win=15872
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Sequence Number (raw): 2083571850

[Next Sequence Number: 1437 (relative sequence number)]
Acknowledgment Number: 344 (relative ack number)
Acknowledgment number (raw): 2105173983
1000 .... = Header Length: 32 bytes (8)
Flags: ox010 (ACK)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... A....]
Window: 31
[Calculated window size: 15872]
[Window size scaling factor: 512]
Checksum: 0x1157 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 615192826, TSecr 2582384713
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615192826
Timestamp echo reply: 2582384713
[SEQ/ACK analysis]
[iRTT: ©.023057036 seconds]
[Bytes in flight: 1436]
[Bytes sent since last PSH flag: 1436]
[Timestamps]
[Time since first frame in this TCP stream: 0.061975267 seconds]
[Time since previous frame in this TCP stream: 0.015610040 seconds]
TCP payload (1436 bytes)
[Reassembled PDU in frame: 3006]
TCP segment data (1436 bytes)
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3005 21:32:53.963506028 104.338544553 0.000023587 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 66 50524 . http(80) [ACK] Seq=344 Ack=1437
Win=64128 Len=0 TSval=2582384752 TSecr=615192826
Frame 3005: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.963506028 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.963506028 seconds
[Time delta from previous captured frame: ©.000023587 seconds]
[Time delta from previous displayed frame: ©.000023587 seconds]
[Time since reference or first frame: 104.338544553 seconds]
Frame Number: 3005
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 52
Identification: 0x1776 (6006)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: @xf6cl [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 344, Ack: 1437, Len: ©
Source Port: 50524 (50524)
Destination Port: http (80)
[Stream index: 40]
[TCP Segment Len: 0]
Sequence Number: 344 (relative sequence number)
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Sequence Number (raw): 2105173983

[Next Sequence Number: 344 (relative sequence number)]
Acknowledgment Number: 1437 (relative ack number)
Acknowledgment number (raw): 2083573286
1000 .... = Header Length: 32 bytes (8)
Flags: ox010 (ACK)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... A....]
Window: 501
[Calculated window size: 64128]
[Window size scaling factor: 128]
Checksum: @x6adc [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 2582384752, TSecr 615192826
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384752
Timestamp echo reply: 615192826
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3004]
[The RTT to ACK the segment was: 0.000023587 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: 0.061998854 seconds]
[Time since previous frame in this TCP stream: 0.000023587 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3006 21:32:53.965079845 104.340118370 0.001573817 ip-160-153-128-26.1ip.secureserver.net martin-mint.lan HTTP 1140
Frame 3006: 1140 bytes on wire (9120 bits), 1140 bytes captured (9120 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.965079845 GMT Daylight Time

[Time
Epoch
[Time
[Time
[Time
Frame
Frame

shift for this packet: ©.000000000 seconds]

Time: 1632864773.965079845 seconds

delta from previous captured frame: ©.001573817 seconds]
delta from previous displayed frame: ©.001573817 seconds]
since reference or first frame: 104.340118370 seconds]
Number: 3006

Length: 1140 bytes (9120 bits)

Capture Length: 1140 bytes (9120 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp:http:data-text-lines]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)

.0, ... ti.. vve. o... = LG bit: Globally unique address (factory default)
(%] .... = IG bit: Individual address (unicast)

Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)

Type:

.0, ... ..v. wve. o... = LG bit: Globally unique address (factory default)
P - H
IPv4 (0©x0800)

IG bit: Individual address (unicast)

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 ....

= Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: 0x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)

Total

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Length: 1126

Identification: ©xde69 (53353)

Flags:

Q...
AL,

0x40, Don't fragment
. = Reserved bit: Not set
= Don't fragment: Set

0 = More fragments: Not set

Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)

Header
[Heade
Source

Checksum: 0x499c [validation disabled]
r checksum status: Unverified]
Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)

Destination Address: martin-mint.lan (10.120.1.97)
Transmission Control Protocol, Src Port: http (80), Dst Port: 50524 (50524), Seq: 1437, Ack: 344, Len: 1074

Source

Port: http (89)

Destination Port: 50524 (50524)

[Stream index: 40]

[TCP Segment Len: 1074]

Sequence Number: 1437 (relative sequence number)
Sequence Number (raw): 2083573286

HTTP/1.1 200 OK

(text/html)
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[Next Sequence Number: 2511 (relative sequence number)]
Acknowledgment Number: 344 (relative ack number)
Acknowledgment number (raw): 2105173983
1000 .... = Header Length: 32 bytes (8)
Flags: 0x018 (PSH, ACK)
000. .... .... = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set

.0.. .... = ECN-Echo: Not set

..0. .... = Urgent: Not set

..1 .... = Acknowledgment: Set

. 1... = Push: Set
.0.. = Reset: Not set

..0. = Syn: Not set
vees seee +..@ = Fin: Not set
[TCP Flags: ....... AP...]
Window: 31
[Calculated window size: 15872]
[Window size scaling factor: 512]
Checksum: @xe5d1l [unverified]
[Checksum Status: Unverified]
Urgent Pointer: @
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 615192826, TSecr 2582384713
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615192826
Timestamp echo reply: 2582384713
[SEQ/ACK analysis]
[iRTT: ©.023057036 seconds]
[Bytes in flight: 1074]
[Bytes sent since last PSH flag: 2519]
[Timestamps]
[Time since first frame in this TCP stream: 0.063572671 seconds]
[Time since previous frame in this TCP stream: 0.001573817 seconds]
TCP payload (1074 bytes)
TCP segment data (1074 bytes)
[2 Reassembled TCP Segments (2510 bytes): #3004(1436), #3006(1074)]
[Frame: 3004, payload: ©-1435 (1436 bytes)]
[Frame: 3006, payload: 1436-2509 (1074 bytes)]
[Segment count: 2]
[Reassembled TCP length: 2510]
[Reassembled TCP Data: 485454502f312e312032303020414b0d0ad446174653a205475652c203238205365702032...]
Hypertext Transfer Protocol
HTTP/1.1 200 OK\r\n
[Expert Info (Chat/Sequence): HTTP/1.1 200 OK\r\n]
[HTTP/1.1 200 OK\r\n]
[Severity level: Chat]
[Group: Sequence]
Response Version: HTTP/1.1
Status Code: 200
[Status Code Description: OK]
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Response Phrase: OK
Date: Tue, 28 Sep 2021 21:32:53 GMT\r\n
Server: Apache\r\n
Upgrade: h2,h2c\r\n
Connection: Upgrade, Keep-Alive\r\n
Last-Modified: Tue, 28 Sep 2021 21:32:02 GMT\r\n
ETag: "604200a-2380-5cd14f1cl1263a-gzip"\r\n
Accept-Ranges: bytes\r\n
Vary: Accept-Encoding,User-Agent\r\n
Content-Encoding: gzip\r\n
Content-Length: 2142\r\n
[Content length: 2142]
Keep-Alive: timeout=5, max=100\r\n
Content-Type: text/html\r\n
\r\n
[HTTP response 1/2]
[Time since request: 0.040284939 seconds]
[Request in frame: 3000]
[Next request in frame: 3021]
[Next response in frame: 3057]
[Request URI: http://goosebears.co.uk/weather/]
Content-encoded entity body (gzip): 2142 bytes -> 9088 bytes
File Data: 9088 bytes
Line-based text data: text/html (201 lines)
<!DOCTYPE HTML>\r\n
<html lang="en">\r\n
\r\n
<head>\r\n
<meta charset="utf-8">\r\n
<meta name="description" content="Rudston weather data and graphs" />\r\n
<meta name="keywords" content="Cumulus, Rudston weather data, weather, data, weather station, graphs" />\r\n
<title>\r\n
Rudston Weather\r\n
</title>\r\n
<link href="weatherstyle.css" rel="stylesheet" type="text/css" />\r\n
<link rel="apple-touch-icon" href="images/favicon.png">\r\n
<link rel="shortcut icon" href="images/favicon.png" />\r\n
</head>\r\n
\r\n
<body>\r\n
<table width="95%" align="center">\r\n
<tr>\r\n
<td>\r\n
\t<h1>\r\n
\t Rudston Weather\r\n
\t</h1>\r\n
\t<h2 style="text-align: left; text-transform: none;">\r\n
[truncated]\t &nbsp;&nbsp;Latitude&nbsp;<span style="color:black">N&nbsp;54&deg;&nbsp;05&#39;8&nbsp;30&quot;</span>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;Longitude&nbsp;<span
style="color:black">W&nbsp;00&deg;&nbsp;19&#39;&nbsp;35&quot;</sp
\t</h2><br>\r\n
\r\n
\t<!-- Almanac -->\r\n
\t<table width="100%" border="0" style="border-spacing: Opx;">\r\n
\t <tr>\r\n
\t <td class="labels" style="padding:0px;">Dawn:</td>\r\n
\t <td class="site_data" style="text-align: left;">\r\n
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\t 06:22\r\n

\t </td>\r\n

\t <td class="labels">Sunrise:</td>\r\n

\t <td class="site_data" style="text-align: left;">\r\n

\t 06:58\r\n

\t </td>\r\n

\t <td class="labels">Moonrise:</td>\r\n

\t <td class="site_data" style="text-align: left;">\r\n

\t 21:56\r\n

\t </td>\r\n

\t <td rowspan="4" style="padding:0px;">\r\n

[truncated]\t <div align="right" valign="middle"><img src="images/moon22.png" alt="Martin Moon" width="100" height="100" border="0">&nbsp;&nbsp;&nbsp;<img src="images/

moon.png" alt="Cumulus Moon" style="background-color: black;" wid

\t </td>\r\n

\t  </tr>\r\n

\t <tr>\r\n

\t <td class="labels" style=" padding:0px;">Dusk:</td>\r\n

\t <td class="site_data" style="text-align: left;">19:20</td>\r\n

\t <td class="labels">Sunset:</td>\r\n

\t <td class="site_data" style="text-align: left;">18:45</td>\r\n

\t <td class="labels">Moonset:</td>\r\n

\t <td class="site_data" style="text-align: left;">15:20</td>\r\n

\t  </tr>\r\n

\t <tr>\r\n

\t <td class="labels" style=" padding:0px;">Daylight:</td>\r\n

\t <td class="site_data" style="text-align: left;">12:57</td>\r\n

\t <td class="labels">Day length:</td>\r\n

\t <td class="site_data" style="text-align: left;">11:46</td>\r\n

\t <td class="labels">Moon Phase:</td>\r\n

\t <td class="site_data" style="text-align: left;">Last Quarter</td>\r\n

\t  </tr>\r\n

\t <tr>\r\n

\t <td colspan="4" class="labels" style="text-align: left; padding:0px;">There will be 4min 21s less daylight tomorrow</td>\r\n

\t <td class="labels">Last&nbsp;New&nbsp;Moon:</td>\r\n

\t <td class="site_data" style="text-align: left;">22 days ago</td>\r\n

\t </tr>\r\n

\t</table>\r\n

\t<!-- END Almanac -->\r\n

\r\n

\t<br><br>\r\n

\r\n

\t<p>Welcome to <b>Rudston Weather</b>.</p>\r\n

\t<p>The weather station in use is the Davis Vantage Pro2. The meteorological day used at this station ends\r\n

\t at midnight local time. These pages are updated every 1 minute.</p> \r\n

\t<br>\r\n

\t<table class="forecast" width="100%" border="0">\r\n

\t <tr>\r\n

\t <td class="td_forecast" width="70px" valign="top">Forecast:</td>\r\n

\t <td class="td_forecast" width="110px" valign="top">Weather Station:</td>\r\n

\t <td class="td_forecast"><b>Mostly cloudy and cooler. Precipitation possible within 12 hours, possibly heavy at times. Windy.</b></td>\r\n

\t <tr>\r\n

\t <td height="25px">&nbsp;</td>\r\n

\t <td class="td_forecast">Cumulus:</td>\r\n

\t <td class="td_forecast"><b>Changeable, some rain.</b></td>\r\n

\t  </tr>\r\n

\t</table>\r\n
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\r\n
\t<b
\r\n
\t<t
\t
\t

r><br>\r\n

able class="table_data" width="100%" border="0" cellpadding="0" cellspacing="0">\r\n
<caption>Conditions at<span class="larger">&nbsp;22:32&nbsp;</span>on<span class="larger">&nbsp;Tuesday 28 September 2021</span></caption>\r\n
<tr>\r\n
<td colspan="4" class="tableseparator_temp"><font style="font-size: 125%;"><b>Temperature and Humidity</b></font></td>\r\n
</tr>\r\n
<tr class="td_temperature_data">\r\n
<td class="labels" width="27%">Temperature</td>\r\n
<td class="site_data" style="text-align: left;" width="23%">10.8&nbsp;&#176;C</td>\r\n
<td class="labels" width="27%">Temp Change Last Hour</td>\r\n
<td class="site_data" style="text-align: left;" width="23%">-0.1&nbsp;&#176;C</td>\r\n
</tr>\r\n
<tr class="td_temperature_data">\r\n
<td class="labels">Windchill</td>\r\n
<td class="site_data" style="text-align: left;">10.8&nbsp;&#176;C</td>\r\n
<td class="labels">Dew&nbsp;Point</td>\r\n
<td class="site_data" style="text-align: left;">10.0&nbsp;&#176;C</td>\r\n
</tr>\r\n
<tr class="td_temperature_data">\r\n
<td class="labels">Apparent Temperature</td>\r\n
<td class="site_data" style="text-align: left;">10.5&nbsp;&#176;C</td>\r\n
<td class="labels">Heat&nbsp;Index</td>\r\n
<td class="site_data" style="text-align: left;">10.8&nbsp;&#176;C</td>\r\n
</tr>\r\n
<tr class="td_temperature_data">\r\n
<td class="labels">Feels&nbsp;Like</td>\r\n
<td class="site_data" style="text-align: left;">10.8&nbsp;&#176;C</td>\r\n
<td class="labels">Humidity</td>\r\n
<td class="site_data" style="text-align: left;">95%</td>\r\n
</tr>\r\n
<tr class="td_temperature_data">\r\n
<td class="labels">Inside Temperature</td>\r\n
<td class="site_data" style="text-align: left;">23.6&nbsp;&#176;C</td>\r\n
<td class="labels">Inside Humidity</td>\r\n
<td class="site_data" style="text-align: left;">54%</td>\r\n
</tr>\r\n

<tr>\r\n
<td colspan="4" class="tableseparator_rainfall”><font style="font-size: 125%;"><b>Rainfall</b></font></td>\r\n
</tr>\r\n
<tr class="td_rainfall_data">\r\n
<td class="labels">Rainfall&nbsp;Today</td>\r\n
<td class="site_data" style="text-align: left;">11.2&nbsp;mm</td>\r\n
<td class="labels">Rainfall&nbsp;Rate</td>\r\n
<td class="site_data" style="text-align: left;">1.2&nbsp;mm/hr</td>\r\n
</tr>\r\n
<tr class="td_rainfall_data">\r\n
<td class="labels">Rainfall&nbsp;Last&nbsp;Hour</td>\r\n
<td class="site_data" style="text-align: left;">1.2&nbsp;mm</td>\r\n
<td class="labels">Last Rainfall</td>\r\n
<td class="site_data" style="text-align: left;">22:28 on 28 September 2021</td>\r\n
</tr>\r\n
<tr class="td_rainfall_data">\r\n
<td class="labels">Rainfall&nbsp;This&nbsp;Month</td>\r\n
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\t <td class="site_data" style="text-align: left;">56.4&nbsp;mm</td>\r\n

\t <td class="labels">Rainfall&nbsp;This&nbsp;Year</td>\r\n

\t <td class="site_data" style="text-align: left;">528.6&nbsp;mm</td>\r\n

\t </tr>\r\n

\r\n

\t <tr>\r\n

\t <td colspan="4" class="tableseparator_wind"><font style="font-size: 125%;"><b>Wind</b></font></td>\r\n
\t </tr>\r\n

\t <tr class="td_wind_data">\r\n

\t <td class="labels">Wind&nbsp;Speed&nbsp; (gust)</td>\r\n

\t <td class="site_data" style="text-align: left;">4.0&nbsp;mph</td>\r\n

\t <td class="labels">Wind&nbsp;Speed&nbsp;(10-minute average)</td>\r\n

\t <td class="site_data" style="text-align: left;">1.0&nbsp;mph</td>\r\n

\t  </tr>\r\n

\t <tr class="td_wind_data">\r\n

\t <td class="labels">Wind&nbsp;Bearing</td>\r\n

\t <td class="site_data" style="text-align: left;">191&deg; S</td>\r\n

\t <td class="labels">Wind Variation (last 1@ minutes)</td>\r\n

\t <td class="site_data" style="text-align: left;">Between&nbsp;132&deg;&nbsp;and&nbsp;225&deg;</td>\r\n
\t </tr>\r\n

\t <tr class="td_wind_data">\r\n

\t <td class="labels">Beaufort</td>\r\n

\t <td class="site_data" style="text-align: left;">F1 &#150; Light air</td>\r\n
\t <td>&nbsp;</td>\r\n

\t <td>&nbsp;</td>\r\n

\t </tr>\r\n

\r\n
\t <tr>\r\n
\t <td colspan="4" class="tableseparator_pressure"><font style="font-size: 125%;"><b>Pressure</b></font></td>\r\n

\t  </tr>\r\n
\t <tr class="td_pressure_data">\r\n
\t <td class="labels">Barometer&nbsp; (sea&nbsp;level)</td>\r\n
\t <td class="site_data" style="text-align: left;">1008.3&nbsp;mb</td>\r\n
\t <td class="site_data" style="text-align: left;">Falling slowly</td>\r\n
\t <td class="site_data" style="text-align: left;">-0.1&nbsp;mb/hr</td>\r\n
\t </tr>\r\n
\t <tr class="td_pressure_data">\r\n
\t <td colspan="4"></td>\r\n
\t </tr>\r\n
\t</table>\r\n
\r\n
\t<table width="100%" border="0" cellpadding="0" cellspacing="0">\r\n
\t <tr>\r\n
\t <td colspan="4" class="td_navigation_bar">\r\n
[truncated]\t :<a href="index.htm">now</a>:<wbr>:<a href="gauges.htm">gauges</a>:<wbr>:<a href="today.htm">today</a>:<wbr>:<a href="yesterday.htm">yesterday</a>:<wbr>:<a
href="thismonth.htm">this&nbsp;month</a>:<wbr>:<a href="thisye
\t </td>\r\n
\t  </tr>\r\n
\t</table>\r\n
\t<p class="credits"><br />\r\n
\t Page updated 28/09/2021 22:32:00<br />\r\n
\t Powered by <a href="https://cumuluswiki.wxforum.net/a/Software" target="_blank">Cumulus</a> v3.9.7 (3107)<br />\r\n
\t Running on Raspberry Pi 3B+\r\n
\t</p>\r\n
</td>\r\n
</tr>\r\n
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</table>\r\n
</body>\r\n
\r\n
</html>\r\n
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3007 21:32:53.965097775 104.340136300 ©0.000017930 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 66 50524 . http(80) [ACK] Seq=344 Ack=2511
Win=64128 Len=0 TSval=2582384754 TSecr=615192826
Frame 3007: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:53.965097775 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864773.965097775 seconds
[Time delta from previous captured frame: 0.000017930 seconds]
[Time delta from previous displayed frame: ©.000017930 seconds]
[Time since reference or first frame: 104.340136300 seconds]
Frame Number: 3007
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 52
Identification: 0x1777 (6007)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xf6c@ [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 344, Ack: 2511, Len: ©
Source Port: 50524 (50524)
Destination Port: http (80)
[Stream index: 40]
[TCP Segment Len: 0]
Sequence Number: 344 (relative sequence number)
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Sequence Number (raw): 2105173983

[Next Sequence Number: 344 (relative sequence number)]
Acknowledgment Number: 2511 (relative ack number)
Acknowledgment number (raw): 2083574360
1000 .... = Header Length: 32 bytes (8)
Flags: ox010 (ACK)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... A....]
Window: 501
[Calculated window size: 64128]
[Window size scaling factor: 128]
Checksum: 0x66a8 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 2582384754, TSecr 615192826
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384754
Timestamp echo reply: 615192826
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3006]
[The RTT to ACK the segment was: 0.000017930 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: 0.063590601 seconds]
[Time since previous frame in this TCP stream: 0.000017930 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3021 21:32:54.078386463 104.453424988 0.004871260 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net HTTP 472 GET /weather/images/moon.png HTTP/1.1
Frame 3021: 472 bytes on wire (3776 bits), 472 bytes captured (3776 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:54.078386463 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864774.078386463 seconds
[Time delta from previous captured frame: 0.004871260 seconds]
[Time delta from previous displayed frame: ©.113288688 seconds]
[Time since reference or first frame: 104.453424988 seconds]
Frame Number: 3021
Frame Length: 472 bytes (3776 bits)
Capture Length: 472 bytes (3776 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp:http]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.lan (30:23:03:24:89:6d)
cee. .40 ... ... ... .... = LG bit: Globally unique address (factory default)
e 0@ Lio uve wvee ve.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
ceee 2400 L. Lou. L. ..o.. = LG bit: Globally unique address (factory default)
eee +4@ L. ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (0x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: 0x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
.. ..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Total Length: 458
Identification: ©x1778 (6008)
Flags: x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©xf529 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 344, Ack: 2511, Len: 406
Source Port: 50524 (50524)
Destination Port: http (80)
[Stream index: 40]
[TCP Segment Len: 406]
Sequence Number: 344 (relative sequence number)
Sequence Number (raw): 2105173983
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[Next Sequence Number: 750 (relative sequence number)]
Acknowledgment Number: 2511 (relative ack number)
Acknowledgment number (raw): 2083574360
1000 .... = Header Length: 32 bytes (8)
Flags: 0x018 (PSH, ACK)
000. .... .... = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. 1... = Push: Set
.0.. = Reset: Not set

..0. = Syn: Not set
vees seee +..@ = Fin: Not set
[TCP Flags: ....... AP...]
Window: 501
[Calculated window size: 64128]
[Window size scaling factor: 128]
Checksum: @xc9ed [unverified]
[Checksum Status: Unverified]
Urgent Pointer: @
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 2582384867, TSecr 615192826
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384867
Timestamp echo reply: 615192826
[SEQ/ACK analysis]
[iRTT: ©.023057036 seconds]
[Bytes in flight: 406]
[Bytes sent since last PSH flag: 406]
[Timestamps]
[Time since first frame in this TCP stream: 0.176879289 seconds]
[Time since previous frame in this TCP stream: ©.113288688 seconds]
TCP payload (406 bytes)
Hypertext Transfer Protocol
GET /weather/images/moon.png HTTP/1.1\r\n
[Expert Info (Chat/Sequence): GET /weather/images/moon.png HTTP/1.1\r\n]
[GET /weather/images/moon.png HTTP/1.1\r\n]
[Severity level: Chat]
[Group: Sequence]
Request Method: GET
Request URI: /weather/images/moon.png
Request Version: HTTP/1.1
Host: goosebears.co.uk\r\n
User-Agent: Mozilla/5.0 (X11; Ubuntu; Linux x86_64; rv:92.0) Gecko/20100101 Firefox/92.0\r\n
Accept: image/webp,*/*\r\n
Accept-Language: en-GB,en;q=0.5\r\n
Accept-Encoding: gzip, deflate\r\n
Connection: keep-alive\r\n
Referer: http://goosebears.co.uk/weather/\r\n
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If-Modified-Since: Tue, 28 Sep 2021 21:00:11 GMT\r\n

If-None-Match: "604060d-2136-5cd147fd360fb"\r\n

\r\n

[Full request URI: http://goosebears.co.uk/weather/images/moon.png]
[HTTP request 2/2]

[Prev request in frame: 3000]

[Response in frame: 3057]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3051 21:32:54.110609350 104.485647875 0.001512366 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 74 50530 . http(80) [SYN] Seq=0 Win=64240 Len=0
MSS=1460 SACK_PERM=1 TSval=2582384899 TSecr=0 WS=128
Frame 3051: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:54.110609350 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864774.110609350 seconds
[Time delta from previous captured frame: 0.001512366 seconds]
[Time delta from previous displayed frame: ©.032222887 seconds]
[Time since reference or first frame: 104.485647875 seconds]
Frame Number: 3051
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 60
Identification: ©xb37a (45946)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x5ab5 [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50530 (50530), Dst Port: http (80), Seq: 0, Len: ©
Source Port: 50530 (50530)
Destination Port: http (80)
[Stream index: 43]
[TCP Segment Len: 0]
Sequence Number: © (relative sequence number)
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Sequence Number (raw): 2676092663

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: @

Acknowledgment number (raw): ©

1010 .... = Header Length: 4@ bytes (10)
Flags: 0x002 (SYN)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..0 .... = Acknowledgment: Not set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish request (SYN): server port 80]
[Connection establish request (SYN): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: .......... S.]
Window: 64240
[Calculated window size: 64240]
Checksum: 0x2167 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1460 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1460
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 2582384899, TSecr ©
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384899
Timestamp echo reply: ©
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 7 (multiply by 128)
Kind: Window Scale (3)
Length: 3
Shift count: 7
[Multiplier: 128]
[Timestamps]
[Time since first frame in this TCP stream: ©.000000000 seconds]
[Time since previous frame in this TCP stream: ©.000000000 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3057 21:32:54.113093298 104.488131823 0.000032892 ip-160-153-128-26.ip.secureserver.net martin-mint.lan HTTP 307
Frame 3057: 307 bytes on wire (2456 bits), 307 bytes captured (2456 bits) on interface wlx000f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx000f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:54.113093298 GMT Daylight Time

[Time
Epoch
[Time
[Time
[Time
Frame
Frame

shift for this packet: ©.000000000 seconds]

Time: 1632864774.113093298 seconds

delta from previous captured frame: ©.000032892 seconds]
delta from previous displayed frame: ©.002483948 seconds]
since reference or first frame: 104.488131823 seconds]
Number: 3057

Length: 307 bytes (2456 bits)

Capture Length: 307 bytes (2456 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp:http]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)

.0, ... ti.. vve. o... = LG bit: Globally unique address (factory default)
(%] .... = IG bit: Individual address (unicast)

Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)

Type:

.0, ... ..v. wve. o... = LG bit: Globally unique address (factory default)
P - H
IPv4 (0©x0800)

IG bit: Individual address (unicast)

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 ....

= Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: 0x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)

Total

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (0)
Length: 293

Identification: ©xde6a (53354)

Flags:

Q...
AL,

0x40, Don't fragment
. = Reserved bit: Not set
= Don't fragment: Set

0 = More fragments: Not set

Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)

Header

Checksum: @x4cdc [validation disabled]

[Header checksum status: Unverified]

Source

Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)

Destination Address: martin-mint.lan (10.120.1.97)
Transmission Control Protocol, Src Port: http (80), Dst Port: 50524 (50524), Seq: 2511, Ack: 750, Len: 241

Source

Port: http (89)

Destination Port: 50524 (50524)

[Stream index: 40]

[TCP Segment Len: 241]

Sequence Number: 2511 (relative sequence number)
Sequence Number (raw): 2083574360

HTTP/1.1 304 Not Modified
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[Next Sequence Number: 2752 (relative sequence number)]
Acknowledgment Number: 750 (relative ack number)
Acknowledgment number (raw): 2105174389
1000 .... = Header Length: 32 bytes (8)
Flags: 0x018 (PSH, ACK)
000. .... .... = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. 1... = Push: Set
.0.. = Reset: Not set

..0. = Syn: Not set
vees seee +..@ = Fin: Not set
[TCP Flags: ....... AP...]
Window: 33
[Calculated window size: 16896]
[Window size scaling factor: 512]
Checksum: ©x3a0f [unverified]
[Checksum Status: Unverified]
Urgent Pointer: @
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 615192973, TSecr 2582384867
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615192973
Timestamp echo reply: 2582384867
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3021]
[The RTT to ACK the segment was: ©.034706835 seconds]
[iRTT: ©.023057036 seconds]
[Bytes in flight: 241]
[Bytes sent since last PSH flag: 241]
[Timestamps]
[Time since first frame in this TCP stream: ©.211586124 seconds]
[Time since previous frame in this TCP stream: 0.034706835 seconds]
TCP payload (241 bytes)
Hypertext Transfer Protocol
HTTP/1.1 304 Not Modified\r\n
[Expert Info (Chat/Sequence): HTTP/1.1 304 Not Modified\r\n]
[HTTP/1.1 304 Not Modified\r\n]
[Severity level: Chat]
[Group: Sequence]
Response Version: HTTP/1.1
Status Code: 304
[Status Code Description: Not Modified]
Response Phrase: Not Modified
Date: Tue, 28 Sep 2021 21:32:54 GMT\r\n
Server: Apache\r\n
Last-Modified: Tue, 28 Sep 2021 21:00:11 GMT\r\n
ETag: "604060d-2f36-5cd147fd360fb"\r\n
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Accept-Ranges: bytes\r\n

Keep-Alive: timeout=5, max=99\r\n
Connection: Keep-Alive\r\n

\r\n

[HTTP response 2/2]

[Time since request: 0.034706835 seconds]
[Prev request in frame: 3000]

[Prev response in frame: 3006]

[Request in frame: 3021]

[Request URI: http://goosebears.co.uk/weather/images/moon.png]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3058 21:32:54.113115921 104.488154446 0.000022623 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 66 50524 . http(80) [ACK] Seq=750 Ack=2752
Win=64128 Len=0 TSval=2582384902 TSecr=615192973
Frame 3058: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlx@00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:54.113115921 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864774.113115921 seconds
[Time delta from previous captured frame: 0.000022623 seconds]
[Time delta from previous displayed frame: ©.000022623 seconds]
[Time since reference or first frame: 104.488154446 seconds]
Frame Number: 3058
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 52
Identification: ©x1779 (6009)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: @xfébe [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 750, Ack: 2752, Len: @
Source Port: 50524 (50524)
Destination Port: http (80)
[Stream index: 40]
[TCP Segment Len: 0]
Sequence Number: 750 (relative sequence number)
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Sequence Number (raw): 2105174389

[Next Sequence Number: 750 (relative sequence number)]
Acknowledgment Number: 2752 (relative ack number)
Acknowledgment number (raw): 2083574601
1000 .... = Header Length: 32 bytes (8)
Flags: ox010 (ACK)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... A....]
Window: 501
[Calculated window size: 64128]
[Window size scaling factor: 128]
Checksum: @x62fa [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 2582384902, TSecr 615192973
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384902
Timestamp echo reply: 615192973
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3057]
[The RTT to ACK the segment was: 0.000022623 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: 0.211608747 seconds]
[Time since previous frame in this TCP stream: 0.000022623 seconds]



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

No. Time Rel Time Delta T Source Destination

Protocol Length Info

3060 21:32:54.132854528 104.507893053 0.019525297 ip-160-153-128-26.ip.secureserver.net martin-mint.1lan TCP 74

Win=14480 Len=0 MSS=1448 SACK_PERM=1 TSval=615192998 TSecr=2582384899 WS=512

Frame 3060: 74 bytes on wire (592 bits), 74 bytes captured (592 bits) on interface wlx@00f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:54.132854528 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864774.132854528 seconds
[Time delta from previous captured frame: 0.019525297 seconds]
[Time delta from previous displayed frame: ©.019738607 seconds]
[Time since reference or first frame: 104.507893053 seconds]
Frame Number: 3060
Frame Length: 74 bytes (592 bits)
Capture Length: 74 bytes (592 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (00:0f:00:d5:62:52)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
0. sier vevt weve w... = LG bit: Globally unique address (factory default)
eee +0@ L.l ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (©x0800)

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 .... = Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)

0000 00.. = Differentiated Services Codepoint: Default (9)

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)

Total Length: 60
Identification: ox0000 (0)
Flags: 0x40, Don't fragment

@... .... = Reserved bit: Not set

.1.. .... = Don't fragment: Set

..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)
Header Checksum: ©x1e30 [validation disabled]
[Header checksum status: Unverified]
Source Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Destination Address: martin-mint.lan (10.120.1.97)

Transmission Control Protocol, Src Port: http (80), Dst Port: 50530 (50530), Seq: 0, Ack: 1, Len:

Source Port: http (80)

Destination Port: 50530 (50530)

[Stream index: 43]

[TCP Segment Len: 0]

Sequence Number: © (relative sequence number)

(4]

http(80) . 50530 [SYN, ACK] Seq=0 Ack=1



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

Sequence Number (raw): 3915682033

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: 1 (relative ack number)
Acknowledgment number (raw): 2676092664
1010 .... = Header Length: 4@ bytes (10)
Flags: 0x012 (SYN, ACK)
000. .... .... = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

¢ vees o1, = Syn: Set
[Expert Info (Chat/Sequence): Connection establish acknowledge (SYN+ACK): server port 80]
[Connection establish acknowledge (SYN+ACK): server port 89]
[Severity level: Chat]
[Group: Sequence]
eee eee. ...0 = Fin: Not set
[TCP Flags: ....... A..S.]
Window: 14480
[Calculated window size: 14480]
Checksum: 0x2b19 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
TCP Option - Maximum segment size: 1448 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1448
TCP Option - SACK permitted
Kind: SACK Permitted (4)
Length: 2
TCP Option - Timestamps: TSval 615192998, TSecr 2582384899
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615192998
Timestamp echo reply: 2582384899
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Window scale: 9 (multiply by 512)
Kind: Window Scale (3)
Length: 3
Shift count: 9
[Multiplier: 512]
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3051]
[The RTT to ACK the segment was: 0.022245178 seconds]
[iRTT: ©.022293979 seconds]
[Timestamps]
[Time since first frame in this TCP stream: ©.022245178 seconds]
[Time since previous frame in this TCP stream: ©0.022245178 seconds]



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

No.

Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)

Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)

Transmission Control Protocol, Src Port: 50530 (50530), Dst Port: http (80), Seq: 1, Ack: 1, Len:

Time Rel Time Delta T Source Destination

Protocol Length Info

3061 21:32:54.132903329 104.507941854 0©0.000048801 martin-mint.lan ip-160-153-128-26.ip.secureserver.net TCP
Len=0 TSval=2582384922 TSecr=615192998
Frame 3061: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlx000f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:54.132903329 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864774.132903329 seconds
[Time delta from previous captured frame: ©.000048801 seconds]
[Time delta from previous displayed frame: ©.000048801 seconds]
[Time since reference or first frame: 104.507941854 seconds]
Frame Number: 3061
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]

Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)

... ... c... ov.. o... = LG bit: Globally unique address (factory default)

e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)

.0, ... tiv. wve. o... = LG bit: Globally unique address (factory default)

P < RN
Type: IPv4 (©x0800)

IG bit: Individual address (unicast)

0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 52
Identification: @xb37b (45947)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: ©x5abc [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)

Source Port: 50530 (50530)

Destination Port: http (80)

[Stream index: 43]

[TCP Segment Len: 0]

Sequence Number: 1 (relative sequence number)

(4]

66

50530 . http(80) [ACK] Seq=1 Ack=1 Win=64256



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

Sequence Number (raw): 2676092664

[Next Sequence Number: 1 (relative sequence number)]
Acknowledgment Number: 1 (relative ack number)
Acknowledgment number (raw): 3915682034
1000 .... = Header Length: 32 bytes (8)
Flags: ox010 (ACK)
000. ... . = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
et eee. ...0 = Fin: Not set
[TCP Flags: ....... A....]
Window: 502
[Calculated window size: 64256]
[Window size scaling factor: 128]
Checksum: @x905e [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 2582384922, TSecr 615192998
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582384922
Timestamp echo reply: 615192998
[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3060]
[The RTT to ACK the segment was: 0.000048801 seconds]
[iRTT: ©.022293979 seconds]
[Timestamps]
[Time since first frame in this TCP stream: ©.022293979 seconds]
[Time since previous frame in this TCP stream: 0.000048801 seconds]



M:\goosebears Linux - very long delay but eventually succeeds.pcapng 3188 total packets, 42 shown

No. Time Rel Time Delta T Source Destination

3183 21:32:59.112264548 109.487303073 0.851501778 ip-160-153-128-26.1ip.secureserver.net martin-mint.1lan

Win=16896 Len=0 TSval=615197977 TSecr=2582384902

Frame 3183: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlxe00f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:59.112264548 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864779.112264548 seconds
[Time delta from previous captured frame: 0.851501778 seconds]
[Time delta from previous displayed frame: 4.979361219 seconds]
[Time since reference or first frame: 109.487303073 seconds]
Frame Number: 3183
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (00:0f:00:d5:62:52)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
0. sier vevt weve w... = LG bit: Globally unique address (factory default)
eee +0@ L.l ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (©x0800)

Protocol Length Info

TCP 66

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 .... = Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)

0000 00.. = Differentiated Services Codepoint: Default (9)

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)

Total Length: 52
Identification: @xdeeb (53355)
Flags: 0x40, Don't fragment

@... .... = Reserved bit: Not set

.1.. .... = Don't fragment: Set

..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)
Header Checksum: ©x4dcc [validation disabled]
[Header checksum status: Unverified]
Source Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Destination Address: martin-mint.lan (10.120.1.97)

Transmission Control Protocol, Src Port: http (80), Dst Port: 50524 (50524), Seq: 2752, Ack: 750, Len:

Source Port: http (80)

Destination Port: 50524 (50524)

[Stream index: 40]

[TCP Segment Len: 0]

Sequence Number: 2752 (relative sequence number)

(4]

http(80) . 50524 [FIN, ACK] Seq=2752 Ack=750
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Sequence Number (raw): 2083574601

[Next Sequence Number: 2753 (relative sequence number)]
Acknowledgment Number: 750 (relative ack number)
Acknowledgment number (raw): 2105174389
1000 .... = Header Length: 32 bytes (8)
Flags: 0x011 (FIN, ACK)
000. .... .... = Reserved: Not set
..0 .... .... = Nonce: Not set
. @... .... = Congestion Window Reduced (CWR): Not set
.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set

..0. = Syn: Not set
vee vee. ...1 = Fin: Set
[Expert Info (Chat/Sequence): Connection finish (FIN)]
[Connection finish (FIN)]
[Severity level: Chat]
[Group: Sequence]
[TCP Flags: ....... A...F]
Window: 33
[Calculated window size: 16896]
[Window size scaling factor: 512]
Checksum: ©x5141 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: @
Options: (12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - No-Operation (NOP)
Kind: No-Operation (1)
TCP Option - Timestamps: TSval 615197977, TSecr 2582384902
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615197977
Timestamp echo reply: 2582384902
[Timestamps]
[Time since first frame in this TCP stream: 5.210757374 seconds]
[Time since previous frame in this TCP stream: 4.999148627 seconds]
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No. Time Rel Time Delta T Source Destination Protocol Length Info
3184 21:32:59.112401990 109.487440515 0.000137442 martin-mint.1lan ip-160-153-128-26.1ip.secureserver.net TCP 66 50524 . http(80) [FIN, ACK] Seq=750 Ack=2753
Win=64128 Len=0 TSval=2582389901 TSecr=615197977
Frame 3184: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlxe00f00d56252, id ©
Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:59.112401990 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864779.112401990 seconds
[Time delta from previous captured frame: 0.000137442 seconds]
[Time delta from previous displayed frame: ©.000137442 seconds]
[Time since reference or first frame: 109.487440515 seconds]
Frame Number: 3184
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: martin-mint.lan (00:0f:00:d5:62:52), Dst: Linksys54585.lan (30:23:03:24:89:6d)
Destination: Linksys54585.lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: martin-mint.lan (©0:0f:00:d5:62:52)
Address: martin-mint.lan (©0:0f:00:d5:62:52)
e 2400 suo ovs wee o... = LG bit: Globally unique address (factory default)
P - H IG bit: Individual address (unicast)
Type: IPv4 (©x0800)
Internet Protocol Version 4, Src: martin-mint.lan (10.120.1.97), Dst: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
0100 .... = Version: 4
. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)
0000 00.. = Differentiated Services Codepoint: Default (9)
..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)
Total Length: 52
Identification: ©x177a (6010)
Flags: 0x40, Don't fragment
@... .... = Reserved bit: Not set
.1.. .... = Don't fragment: Set
..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 64
Protocol: TCP (6)
Header Checksum: @xfébd [validation disabled]
[Header checksum status: Unverified]
Source Address: martin-mint.lan (10.120.1.97)
Destination Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Transmission Control Protocol, Src Port: 50524 (50524), Dst Port: http (80), Seq: 750, Ack: 2753, Len: ©
Source Port: 50524 (50524)
Destination Port: http (80)
[Stream index: 40]
[TCP Segment Len: 0]
Sequence Number: 750 (relative sequence number)
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Sequence Number (raw): 2105174389

[Next Sequence Number: 751 (relative sequence number)]
Acknowledgment Number: 2753 (relative ack number)
Acknowledgment number (raw): 2083574602

1000 ....

= Header Length: 32 bytes (8)

Flags: 0x011 (FIN, ACK)

000.

. = Reserved: Not set
. = Nonce: Not set

. @... .... = Congestion Window Reduced (CWR): Not set

.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. @... = Push: Not set
.0.. = Reset: Not set
..0. = Syn: Not set
eee. «..1 = Fin: Set
[Expert Info (Chat/Sequence): Connection finish (FIN)]
[Connection finish (FIN)]
[Severity level: Chat]
[Group: Sequence]

[TCP Flags: ««+«:-- A---F]

Window:

501

[Calculated window size: 64128]

[Window

size scaling factor: 128]

Checksum: ©x3be5 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: @

Options:

TCP

TCP

TCP

(12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
Option - No-Operation (NOP)
Kind: No-Operation (1)
Option - No-Operation (NOP)
Kind: No-Operation (1)
Option - Timestamps: TSval 2582389901, TSecr 615197977
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2582389901
Timestamp echo reply: 615197977

[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3183]
[The RTT to ACK the segment was: 0.000137442 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: 5.210894816 seconds]
[Time since previous frame in this TCP stream: 0.000137442 seconds]
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No. Time Rel Time Delta T Source Destination

3185 21:32:59.133539984 109.508578509 0.021137994 ip-160-153-128-26.ip.secureserver.net martin-mint.1lan

Win=16896 Len=0 TSval=615197999 TSecr=2582389901

Frame 3185: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface wlx@00f00d56252, id ©

Interface id: @ (wlx000f00d56252)
Interface name: wlx@00f00d56252
Encapsulation type: Ethernet (1)
Arrival Time: Sep 28, 2021 22:32:59.133539984 GMT Daylight Time
[Time shift for this packet: ©.000000000 seconds]
Epoch Time: 1632864779.133539984 seconds
[Time delta from previous captured frame: 0.021137994 seconds]
[Time delta from previous displayed frame: ©.021137994 seconds]
[Time since reference or first frame: 109.508578509 seconds]
Frame Number: 3185
Frame Length: 66 bytes (528 bits)
Capture Length: 66 bytes (528 bits)
[Frame is marked: False]
[Frame is ignored: False]
[Protocols in frame: eth:ethertype:ip:tcp]
[Coloring Rule Name: HTTP]
[Coloring Rule String: http || tcp.port == 80 || http2]
Ethernet II, Src: Linksys54585.lan (30:23:03:24:89:6d), Dst: martin-mint.lan (00:0f:00:d5:62:52)
Destination: martin-mint.lan (00:0f:00:d5:62:52)
Address: martin-mint.lan (00:0f:00:d5:62:52)
... ... c... ov.. o... = LG bit: Globally unique address (factory default)
e 20e@ Lier eve wvee we.. = 1IG bit: Individual address (unicast)
Source: Linksys54585.1lan (30:23:03:24:89:6d)
Address: Linksys54585.1lan (30:23:03:24:89:6d)
0. sier vevt weve w... = LG bit: Globally unique address (factory default)
eee +0@ L.l ... ... .... = IG bit: Individual address (unicast)
Type: IPv4 (©x0800)

Protocol Length Info

TCP 66

Internet Protocol Version 4, Src: ip-160-153-128-26.ip.secureserver.net (160.153.128.26), Dst: martin-mint.lan (10.120.1.97)

0100 .... = Version: 4

. 0101 = Header Length: 20 bytes (5)
Differentiated Services Field: @x00 (DSCP: CS@, ECN: Not-ECT)

0000 00.. = Differentiated Services Codepoint: Default (9)

..00 = Explicit Congestion Notification: Not ECN-Capable Transport (©)

Total Length: 52
Identification: @xdee6c (53356)
Flags: 0x40, Don't fragment

@... .... = Reserved bit: Not set

.1.. .... = Don't fragment: Set

..0. .... = More fragments: Not set
Fragment Offset: ©
Time to Live: 48
Protocol: TCP (6)
Header Checksum: ©x4dcb [validation disabled]
[Header checksum status: Unverified]
Source Address: ip-160-153-128-26.ip.secureserver.net (160.153.128.26)
Destination Address: martin-mint.lan (10.120.1.97)

Transmission Control Protocol, Src Port: http (80), Dst Port: 50524 (50524), Seq: 2753, Ack: 751, Len:

Source Port: http (80)

Destination Port: 50524 (50524)

[Stream index: 40]

[TCP Segment Len: 0]

Sequence Number: 2753 (relative sequence number)

(4]

http(80) . 50524 [ACK] Seq=2753 Ack=751
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Sequence Number (raw): 2083574602

[Next Sequence Number: 2753 (relative sequence number)]
Acknowledgment Number: 751 (relative ack number)
Acknowledgment number (raw): 2105174390

1000 ....
0x010 (ACK)
000. ... .

Flags:

= Header Length: 32 bytes (8)

= Reserved: Not set

..0 .... .... = Nonce: Not set

. @... .... = Congestion Window Reduced (CWR): Not set

.0.. .... = ECN-Echo: Not set
..0. .... = Urgent: Not set
..1 .... = Acknowledgment: Set
. ©... = Push: Not set
.0.. = Reset: Not set
..0. = Syn: Not set
.0 = Fin: Not set

[TCP Flags: ....... A....]

Window:

33

[Calculated window size: 16896]

[Window

size scaling factor: 512]

Checksum: @x3da3 [unverified]
[Checksum Status: Unverified]
Urgent Pointer: o

Options:

TCP

TCP

TCP

(12 bytes), No-Operation (NOP), No-Operation (NOP), Timestamps
Option - No-Operation (NOP)
Kind: No-Operation (1)
Option - No-Operation (NOP)
Kind: No-Operation (1)
Option - Timestamps: TSval 615197999, TSecr 2582389901
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 615197999
Timestamp echo reply: 2582389901

[SEQ/ACK analysis]
[This is an ACK to the segment in frame: 3184]
[The RTT to ACK the segment was: 0.021137994 seconds]
[iRTT: ©.023057036 seconds]
[Timestamps]
[Time since first frame in this TCP stream: 5.232032810 seconds]
[Time since previous frame in this TCP stream: 0.021137994 seconds]



